Corner Mount Adaptor
Pole Mount Adaptor

SBP-300KM (IVORY
SBP-300PM (IVORY
SBP-300KMW(WHITE

)
)
)
SBP-300PMW (WHITE)

@) Hanwha Techwin

Package

SBP-300KM/SBP-300KMW

SEEE

STAINLESS BOLT
(M10XL30) 4EA

0600

SPRING WASHER 4EA

PLAIN WASHER 4EA

SBP-300PM/SBP-300PMW

SEEE

STAINLESS BOLT
(M10XL30) 4EA

0600

SPRING WASHER 4EA

PLAIN WASHER 4EA

STAINLESS STEEL

MOUNT STRAP
POLE MOUNT ADAPTOR

Product Overview

SBP-300KM/SBP-300KMW : This is an adaptor that is used to install the Wall Mount Adaptor
in a corner of the wall.
SBP-300PM/SBP-300PMW : This product is used to install the Wall Mount Adaptor onto a
pole of at least 80 mm in diameter.

FRA SBP-300KM/SBP-300KMW : Adaptateur permettant d'installer I'adaptateur de fixation murale
dans I'angle du mur.

SBP-300PM/SBP-300PMW : Ce produit permet de monter I'adaptateur de fixation murale
sur un pyléne d'au moins 80 mm de diameétre.

SBP-300KM/SBP-300KMW : Das ist ein Adapter, der zur Montage des Wandadapters in
einer Wandecke verwendet wird.

SBP-300PM/SBP-300PMW : Dieses Produkt dient zum Montieren des Wandadapters an
einem Mast mit einem Durchmesser von mind. 80 mm.

PA SBP-300KM/SBP-300KMW : Este es un adaptador que se utiliza para instalar el adaptador
de montaje en pared en una esquina de un muro.

SBP-300PM/SBP-300PMW : Este producto se utiliza para instalar el Adaptador de montaje
en pared en un poste de al menos 80 mm de didmetro.

SBP-300KM/SBP-300KMW : Questo & un adattatore utilizzato per installare I'adattatore per
montaggio a parete in un angolo della parete.

SBP-300PM/SBP-300PMW : Questo prodotto e utilizzato per installare I'adattatore per
montaggio a parete su un palo di almeno 80 mm di diametro.

=

(7]
o)

RUS SBP-300KM/SBP-300KMW : 3TOT NepexofiH1K MCNOMb3yeTca ANA YCTaHOBKM HaCTEHHOTO
aganTepa B yrny.
SBP-300PM/SBP-300PMW : 3TOT NpoAyKT MCMONb3yeTca ANA YCTaHOBKU HACTEHHOTO
KPOHLUTEHa Ha CToN6, MUHUMAsbHBI AaMeTp KOTOPOro cocTaenAeT 80 MM.

SBP-300KM/SBP-300KMW : Ta przystawka uzywana jest do montowania Przystawki
Sciennej w kacie pomigdzy Scianami.

SBP-300PM/SBP-300PMW : Ten produkt jest uzywany do montazu przystawek sciennych na
stupie o $rednicy co najmniej 80 mm.

SBP-300KM/SBP-300KMW : Bu, Duvar Montaj Adaptoriinti duvar késelerine monte etmek
icin kullanilan bir adaptérddr.

SBP-300PM/SBP-300PMW : Bu Uriin, Duvara Montaj Adaptorini en az 80 mm gapa sahip
bir direge monte etmek icin kullanilir.

SBP-300KM/SBP-300KMW : Adaptér uréeny k instalaci adaptéru pro upevnéni na sténu do
rohu na sténé.

SBP-300PM/SBP-300PMW : Tento produkt je urcen k instalaci adaptéru pro upevnéni na
sténu na stozér o priméru alespon 80 mm.

o
(o]

L

c

& —
N o

JAP BB 37(3OKM/SBP 300KMW : 74— )LV N TR T 2% BEDRBICRE T B ERT S
THATRTY,
SBP-300PM/SBP-300PMW : ZORREFEABL T V4 — )b X V> b TR T2 ZEED
80mmZEBR HHHERELE T,

SBP-300KM/SBP-300KMW : iX 2 Fi FHE i fa R el E R IER 28 HOIERCER
SBP-300PM/SBP-300PMW : 7k 7= B Fifffih b 245 B8 FR 88 RETIHRZE D H 80 ZAAH
FL.

SBP-300KM/SBP-300KMW : & MEZ2 #i2] 2 A2|F0i Wall Mount Adaptor2 A X| Al
Alg3sk= Adaptor &lLiCh

SBP-300PM/SBP-300PMW : = | Z=2 80mmO0|Ate| 217|S0f Wall Mount Adaptor =
AR| Al AF85H= Adaptor ILICE

@)
=

Installation Precautions

m Make sure that the installation place can endure at least 4 times of the total weight of the
Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor, and Camera.

B Each anchor bolt to use must be capable of withstanding an extraction force of 700 kg.

B When installing the product outdoors, use interlocking devices made of stainless steel.

B This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

m If you install the Corner Mount Adaptor on a concrete wall, it is recommended to use M10
Anchor Bolts (Nuts) along with plain and spring washers.

m Assurez-vous que I'emplacement de I'installation peut supporter au moins 4 fois le poids total de
I'adaptateur de fixation sur pyléne/d‘angle, de I'adaptateur de fixation murale, de I'adaptateur
pour fixation suspendue et de la caméra.

m Chaque boulon utilisé doit pouvoir résister a une force d'extraction de 700 kg.

m Sivous installez le produit a I'extérieur, utilisez des dispositifs de verrouillage en acier
inoxydable.

m Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).

m Si vous fixez |'adaptateur de fixation murale sur un mur en béton, nous vous conseillons
d'utiliser des boulons d'ancrage M10 (écrous a river) avec rondelles de ressort et plates.

| Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht der Eck-/Masthalterung,
des Wand- bzw. Héngeadapters und der Kamera tragen kann.

M Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

m Wenn das Produkt im Freien montiert wird, missen Verriegelungseinrichtungen aus Edelstahl
verwendet werden.
Bei der Montage dieses Produkts bendtigt man Ankerbolzen und Muttern (M10).

m Wenn Sie die Eckhalterung an einer Betonwand befestigen, wird die Verwendung von M10
Ankerbolzen (Muttern) und von Unterleg- bzw. Spannscheiben empfohlen.

m Aseglrese de que el lugar de instalacion puede soportar al menos 4 veces el peso total del
adaptador de montaje en esquina/poste, el adaptador de montaje en pared, el adaptador de
montaje en suspension y la camara.

M Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.

m Al instalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.

m Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.

m Siinstala el adaptador de montaje en esquina en un muro de hormigén, se recomienda utilizar
pernos de anclaje M10 (tuercas) junto con arandelas planas y de muelle.

W Assicurarsi che il punto prescelto per I'installazione possa sopportare un peso 4 volte
superiore a quello totale di adattatore per montaggio ad angolo/su palo, adattatore per
montaggio a parete, adattatore per montaggio sospeso e videocamera.

m Ogni bullone di ancoraggio da utilizzare deve poter resistere ad una forza di estrazione di 700 kg.

m Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.

m Questo prodotto & progettato per utilizzare bulloni (dadi) di ancoraggio M10 per l'installazione.

m Se siinstalla I'adattatore per montaggio ad angolo su un muro di cemento, si raccomanda di
utilizzare bulloni (dadi) di ancoraggio M10 con rondelle piane ed elastiche.

W Y6enuTech, YTO MECTO YCTAaHOBKM BbIAEPXMBAET BEC NPUMEPHO B 4 pa3a 60oMbLunii obLiero
Beca yrf0BOro afjantepa/ana KpenneHna K KONoHHe, a Takke HaBeCHOro afanTtepa v Kamepbl.

W Kbl MCnonb3yemblii KpenexHblii 60T JOMKEH BbIAEPXKMBATL CUNY U3BNEYEHNA, PABHYIO
700 Kr.

m Ecnv npogyKT ycTaHaBNvBaeTcA BHe NOMELLEHsA, HEOBXOAMMO UCMONb30BaTb YCTPONCTBO
6OKVNPOBKY 13 HepXaBeloLLyeit CTanm.

W [InA ycTaHOBKM 3TOrO NPOAKTa UCMOMb3yloTcA KpenexHble 6onTbl (raiiki) M10.

m pw ycTaHOBKe YrnoBoro ajjantepa Ha 6ETOHHON CTeHe pekoMeHAyeTCA 1CMOb3oBaTh
KpenexHble 6onTbl (raiikv) M10, a Takxe NNocKue N NPYXUHHbIE LWarkbbl.

m Upewnij sie, ze miejsce instalacji moze utrzymac¢ ciezar czterokrotnie wiekszy od tgcznej wagi
Przystawki do montazu na stupie/przystawki katowej, Przystawki sciennej, Przystawki wiszacej
i Kamery.

| Kazda kotwa musi mie¢ zdolno$¢ wytrzymania sity wyciggania 700 kg.

m W przypadku montazu produktu na zewnatrz nalezy uzywac blokad ze stali nierdzewnej.

m Produkt ten nalezy montowac¢ za pomoca kotew (nakretek) M10.

m W przypadku montazu Przystawki katowej na $cianie betonowej zalecane sa kotwy (nakretki)
M10 oraz podktadki zwykte i sprezyste.

m Montaj yerinin Kése/Direk Montaj Adaptoriintn, Duvar Montaj Adaptériniin, Askill Montaj
Adaptoriiniin ve Kamera'nin toplam agiriginin en az 4 katina dayanikli oldugundan emin olun.

| Kullanilacak her ankraj civatasi, 700 kg'lik bir gekme kuvvetine dayanikli olmalidir.

m Urlint dig mekana kurarken, paslanmaz gelikten yapiimis i¢ kilit mekanizmalan kullanin.

m Bu Urtin, M10 ankraj civatalaryla (somunlar) birlikte kullanimak igin tasarlanmistir.

m Kdseye Montaj Adaptoriini beton bir duvarda kullanacaksaniz, diz ve yayli rondelalara sahip
M10 ankraj civatalarinin (somunlarin) kullaniimast énerilir.

m Ujistéte se, Ze misto, kam chcete zafizeni instalovat, unese nejméné Ctyfnasobek souctu
hmotnosti rohového adaptéru nebo montazniho adaptéru pro stozary, adaptéru pro upevnéni
na sténu, zavésného montazniho adaptéru a kamery.

m Kazdy kotevni Sroub musf byt schopen odolat tahu 700 kg.

| Piinstalaci produktu ve venkovnich prostorach pouZifte zajiStovaci prvky z nerezové oceli.

m Tento produkt je navrzen pro pourziti kotevnich Sroubu a matic M10 pfi instalaci.

m Priinstalaci rohového adaptéru na betonové stény se doporucuje pouzit kotevni Srouby a
matice M10 spolu s plochymi a pérovymi podloZkami.

SRBIZPTHN ;|—+—/a‘i’—;b-792h-77‘7°&\ VF=)V IV TETRINF Y
ROV TETABELUHAZDE quig(DaijcMﬁiTszhéCt’éﬁ&%@b’((f:“&b‘o
FRYTHET7H—RIV I, 700kgDKREAICTHASNE T,
COHEEBMRE T B8, ATV L ARDESEBAFERL LT
TORGEMI0T VA= RV (Fv ) EERLGERE

TP = MBI a—F— Iy - PR TR ERET HEAIFMIOT Y H—RILE
(FYM) EFETY v —BLURT IV 7Dy v—EERTHIEEHEDHLET,

B EHRTEMEZ DA LURE A%/HRRRERR. HEREERR. BERKERHEM
BENDESN 4 EMNE. B

uEER E‘Jﬁ’\ﬂﬂﬁk@ﬂ%ﬁ%'ﬁﬁﬁﬂiﬁﬁ 700 » THIRH N E

W ERSMRRT AT, 1EE AT AR Rk

B AR AR MI0 BIERE (RE) it ok

] tﬂ%ﬁﬁ”ét BRFRETRRELEL, 53»(4% M10 BEiRL (IRE) SRFHEMLM

BESEER

AR[EAT} Comer/PoIe Mount Ad‘zptor WaH Mount Adaptor Hangmg Mount Adaptor,
Camera o S&240| 48l 0|42 EE5| ZE = U= R0f| MRS

MX|El ZHzto| AT BE= 700K EIE _#‘o" ZC|ojot oLL||:}

=20l MX|[A| MZF= AE|Cl2 A KHQ% ASBHIS.

0| HZ2 M102] 0’9}5‘5 HE)E A5

Corner Mount Adaptor& ELEIEE”O{I Mx|st é—?— M10°I 0*9}
Xmeleiiel shil AR R

EHE)S AN I



Installation

SBP-300KM/SBP-300KMW

1 Mark and drill 8 holes into the Corner Mount Adaptor where you will insert
the Anchor Bolts or Nuts (M10), and fasten the Corner Mount Adaptor with

the Bolts, plain and spring washers.

2 Insert the cables through the Corner Mount Adaptor.

3 Use the provided Bolts, Spring Washers and Plain Washers to mount the

Wall Mount Adaptor onto the product.

= For more information, refer to the installation guide of the Wall Mount Adaptor.

™ Anchor Bolt

SBP-300PM/SBP-300PMW
1 Select a pole to install and confirm the installation height.

2 Use the Stainless Steel Mounting Strap to secure the Pole Mount Adaptor

to the pole.

3 Insert the cables through the Pole Mount Adaptor.

4 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.
= For more information, refer to the installation guide of the Wall Mount Adaptor.

Plain Washer
Spring Washer

Stainless Steel Mounting Strap

Pole Mount Adaptor

Product Specifications

SBP-300KM/SBP-300KMW

SBP-300PM/SBP-300PMW

* Weight : 2200g

* Material : Steel

e Operation temp. : -50°C~60°C
¢ Operation hum. : 0~100%

* Weight : 1400g

* Material : Steel

e Operation temp. : -50°C~60°C
¢ Operation hum. : 0~100%

* Poids : 2200g

* Matériau : Acier

* Température de fonctionnement :
-50°C~60°C

¢ Humidité de fonctionnement :
0~100%

* Poids : 1400g

* Matériau : Acier

* Température de fonctionnement :
-50°C~60°C

¢ Humidité de fonctionnement :
0~100%

* Gewicht : 2200g

* Material : Stahl
 Betriebstemperatur : -50°C~60°C
 Betriebsluftfeuchte : 0~100%

* Gewicht : 1400g

* Material : Stahl
 Betriebstemperatur : -50°C~60°C
 Betriebsluftfeuchte : 0~100%

® Peso : 2200g

¢ Material : Acero

e Temp. funcionamiento : -50°C~60°C
® Hum. funcionamiento. : 0~100%

® Peso : 14009

* Material : Acero

e Temp. funcionamiento : -50°C~60°C
® Hum. funcionamiento. : 0~100%

e Peso : 2200g

* Materiale : Acciaio

® Temperatura di esercizio : -50°C~60°C
¢ Umidita di esercizio : 0~100%

® Peso: 1400g

* Materiale : Acciaio

® Temperatura di esercizio : -50°C~60°C
¢ Umidita di esercizio : 0~100%

® Bec: 22009

* Matepwan : Ctanb

* TemnepaTtypa npw pabore :
-50°C~60°C

® BnaxHocTb npm pabore : 0~100%

e Bec: 14009

* Matepwan : Ctanb

* TemnepaTtypa npw pabore :
-50°C~60°C

® BnaxHocTb npm pabore : 0~100%

e Ciezar : 2200g

* Materiat : Stal

e Temperatura robocza : -50°C~60°C
¢ Wilgotno$¢ robocza : 0~100%

e Ciezar : 1400g

* Materiat : Stal

e Temperatura robocza : -50°C~60°C
¢ Wilgotno$¢ robocza : 0~100%

Plain Washer Corner Mount Adaptor
Spring Washer Anchor Bolt
Anchor Bolt Wall Mount Adaptor
Wall Mount Adaptor (SBP-300WM)
(SBP-300WM)
Product Outline Product Outline
<
8
= =
8 166
A= A=
O @ D
15 ¢45
8-g1
d o o oo o o B @
P45
© & D
LK\
A o G :

4-MI0xI.5 NUT

80

4-MIOxI.5 NUT

* Agrrlik : 2200g

* Malzeme : Gelik

e Calisma sicakligr : -50°C~60°C
® Calisma nem degeri : 0~100%

* Agrrlik : 1400g

* Malzeme : Gelik

e Calisma sicakligr : -50°C~60°C
® Calisma nem degeri : 0~100%

* Hmotnost : 2200g

o Material : Ocel

* Provozni teplota : -50°C~60°C
® Provozni vihkost : 0~100%

* Hmotnost : 1400g

o Material : Ocel

* Provozni teplota : -50°C~60°C
® Provozni vihkost : 0~100%

e EHE : 22009

o W RF—)U

* BYERE : -50°C~60°C
o BIYEEE : 0~100%

e EHE : 14009

o W RF—)U

* BIYERE : -50°C~60°C
o BIEEE : 0~100%

o T8 : 22009

o F# N

o TIEIRE : -50°C~60°C
o TERE :0-100%

o &8 : 14009

o F# N

o TIEIRE : -50°C~60°C
o TERE 1 0-100%

* 27 : 22009

e TZ : Steel

e A2 2% 1 -50C~60T
° A2 & 0~100%

* 27 1 14009

e THZE : Steel

e A2 2% 1 -50C~60T
° A2 & 1 0~100%




